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HOMEWORK... Queshens
Uuohot?

p. 452: #1-6,10, 11
(1=Prt)
A=P+1)

OR
A=P+Prt

A= P(1 + rt)

3. a) DPrincipal of $1000 is invested at 5% simple interest, paid

annually, for 5 years. hat is the rate of return: /

b) Which option below would yield the greatest future value?

-
.

750AV =

What is the rate of return for this option?
A. increasing the principal to $1050
B. increasing the interest rate to 6%
C. paying interest every 6 months
D. increasing the term to 6 years
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AP

You earnre*g‘§107.42 simple int;rest on a é
$671.37 ifvéstment over fouf years. /(&

What was the ‘

CWARM-UPL
/ -U
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te of ret
— EXAMPLE 3 Determining the duration of a simple

p. 448 interest investment

The ratio of money earned
{or lost) on an investment
relative to the amount of
money invested, usually
expressed as a decimal or

Ingrid invested her summer earnings of $5000 at 8% simple interest, pa.id

:mnually. She intends to use the money in a few years to take a holida}'

a percent. with a girlfriend.
— a) i[l it take for the future value of the investment to grow
earn / lost to ¥8000?
ROR = ﬁ b) What is Ingrid’s /rate of return ?
lnvesite
~~ N F =

Ingrid’s Solution

= p+ @

a) A=P+ Pr | knew P, r, and A. | determined
Pis $5000. t by substituting these known
ris 8%, or 0.08. T values into the formula
A is $8000. A = P + Prt and solving for t.

8000 = 5000 + (5000)(0.08) Because | needed to isolate ¢, |
B 4 V8| knew that the A = P + Prt form
3000 - 00z of the equation would have
7.5 =1 fewer solution steps than the
\A = P(1 + rf) form would.
l‘”
It will take 8 years for the furure ----- I knew 7.5 years “'jDUH noT[ .
VC'IJ.LI.B Olc tl'.lB investment o I'."E mrk bECEIUSE the Interest is pald
at least $8000. annually. This meant that | had to
round up to the next whole year.

b) After 8 vears: It also meant that, at 8 years, the
A=Pp . Pri future value would be more than

A = 5000 + (5000)(0.08)(8)  \38000.

A = 8200
At 8 years, the furure value will be

-
$8200. | determined the interest earned
Interest earned: by subtracting the principal from
$8200 — $5000 = $3200 T | the future value.
Rate of return = 3200 . r"-I compared the interest earned
5000 with the principal to determine

Rate of return = 0.64 t\__ﬂ"'e rate of return.

The rate of return is 64%

over 8 years.
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EXAMPLE 3 Determining the duration of a simple
p. 448 interest investment
o~
Ingrid invested her summer earnings of $5000 at 8% simple interest, paid m
annually. She intends to use the money in a few years to take a holiday

—_—

with a girlfriend. A = f + T m~> 1 - A - P P

: T = gD - 009 iB

‘a) ill it take for the future value of the invesgment to grow = =
mO?A T =750 &? P(

b) Wf/is\lngrid’s rate of return ?

) - p(t r‘“
) op - D < L () [- 2090
P : ?:OSIMZX ) Sﬂm(o,oﬁ)
- 9200l =(/.5y

5399

=l |
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EXAMPLE 4 Determining the rate of interest on p 450 f
a simple interest investment )

Grant invested $25 000 in a simple interest Canada Savings Bond (CSB) é
that paid interest annually.

a) If the future value of the CSB is $29 375 at the end of 5 years, what
interest rate does the CSB earn?

b) Grant cashed in the bond afte because a house he had been
admiring came up for sale and he needed a down payment. How much

7 did he have for the down payment?
money did he have tor the down payment Y Y;?

~) P- 25000 {/0,7 { = 1

N - 29315 (t
JC > 6 v\(N§

/A
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PRACTICE rearranging... I = Prt

morksheet - Rearranging Simple Interest.pdf

/P

I

£\

When finished...PRACTICE rate of return (ROR)
Text p. 452: #3 & #12
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Simple Interest Worksheet

1) a) The formula for simple interest is:

b) Rearrange this formula to find:

i) Time: ii) The interest rate: iii) The Principal:

Answer each of the following...

2) If Michael invests $2000 in the bank at a rate of 5.5% for 6 years how much
interest will he make?

3) Kelsey takes out a loan for $6000 to start a business after high school. The bank

charges her 8% interest for the loan. After 5 years how much interest will be added
on to the loan?

4) Jessie invests $3345 in the stock market. Over the 3 years she has this invested

she gets an average return of 7.8%. How much will her investment be worth after the
3 years?

5) Scott takes gets a student loan to go to college after high school. If he pays $750
in interest at a rate of 3%, how much must the loan have been for originally?

6) Taylor has just won 54,250 from the 50/50 at the Sea Dog's game and decides to

invest all of it. If he makes $1275 with a 5% interest rate, how long must he have
had the money invested?

7) At what rate would you need to invest $12000 and make $2880 after 8 years?

8) What will the total value of an investment of $5000 be if it has an interest rate of
7% and is invested for 20 years?

9) Morgan has an investment worth $130,000 dollars after 20 years. If his original
investment was for $50,000 what must the interest rate have been?
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